:(100) A2 & =2 g (170) =S+ Mg (173)EISI HAE EX S 2 (&9 &)
ni; =
Olatel | MEC oAt HlWSZ &t = Pl =
2
= 13,187,820 27,074,128 | A 13,886,308
==Y 13,187,820 27,074,128 | ~ 13,886,308
[ HALEEZ =L 12,457,820 26,574,128 | A 14,116,308
173-01
ST e 9,688,000 17,403,000 | A7,715000| O =21EXZ2
oA ot=2H Bl SA 2,030,000,000& = 2,030,000
LAl FEHGt=2H EHI ALY 500,000,000& = 500,000
098 F=Al ot==2H BTL &= 5,487,000,000& = 5,487,000
1108 FFAl of=2t01 BTL SU= 1,671,000,000& = 1,671,000
173-02
Elsl HAEEXES Y 2,769,820 7,925,128 | A5195308| OL IS HE LS ot =20 = DE2XAM0 [HE AHIRES
- AFAIFY ol=2 1 E 714,000,000& X 21.0/100 = 149,940
- ot==XelE S4(2013EAIHI0IRER) 1,000,000,000& X 14 = 1,000,000
- &2 X 7 St=2t 13l 3,428,000,000& X 21.0/100 = 719,880
Oot==dH| JI2HE+-8HIES & ot+=2HEH NHUHMARH 2
-GFot=CEHl JI=HEF-EHEIES 300,000,000& X 14 = 300,000
-SJlot=2 NEE|l E=Xcly 250,000& X 2,4000t+ = 600,000
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